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To read the relationships we need to imagine that we are standing at one entity and moving toward the other entity. As we move from one entity to another we need to read the diagram using the following convention:

We always begin with the word "Each followed by the name of the entity.  We then read the optionality of the line as we depart to the other entity. Since the optionality is "may be" or "must be" we need to use one of these two phrases.  Finally, as we arrive to the other entity we read the degree of the relation. Since the degree is "one or only one" or "one or more" we need to use one of these two phrases followed by the name of the other entity.

